Week 4 VLSM Exercise:
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You are given the 192.16.15.0 address.  Effectively address all router interfaces using VLSM.  Each side of the arrows is a serial interface.  Each site has an Ethernet segment interface. Use the following format:

Serial Links:

Site A – B:  x.x.x.x

Site A – C:  x.x.x.x

Site A – D:  x.x.x.x

Site A – E:  x.x.x.x

Site A Serial Addresses:

To B: x.x.x.x

To C: x.x.x.x

To D: x.x.x.x

To E: x.x.x.x

Site A:

Mask: x.x.x.x on the Ethernet link

The Ethernet address is x.x.x.x

Host address range from x.x.x.x to x.x.x.x

Wire address is: x.x.x.x

Sites B – E:

Mask: x.x.x.x on the Ethernet link

The Ethernet address is x.x.x.x

The serial address is: x.x.x.x  

Host address range from x.x.x.x to x.x.x.x

Wire address is: x.x.x.x

